
Parts list:

Steel
Washer

PVC bolt 
Cover

A

B

C

D

NO Picture

Seat

Qty

F

Armrest

Name

1

4

M6X50
bolt 3

G Wrench 1

1

4

GLA-60483-23KD

Assembly Instruction 

E
M6X25
bolt 1

B
A

1 2

3

CEF

C D F
CDF

RL

300kg300kg

 General Care:
For clearing, wipe the surface with a damp (not wet) cloth or sponge or wipe dry with a clean lint free cotton cloth.
Pokyny k ošetřování:
K čištění používejte vlhký hadřík nebo houbu, nebo ho otřete suchým nechlupatým bavlněným hadříkem.

Pokyny k ošetrovaniu
Na čistenie používajte vlhkú handričku alebo špongiu, alebo ho utrite suchou nechlpatou bavlnenou handričkou.



A

B

A

B

C

D

E

G

4

1

1

4

1

1

3

F

Assembly Instruction Assembly Instruction 

GLA-60708-23KDGLA-60708-23KD

A

B

Parts list:

Steel
Washer

PVC b olt 
Cover

A

B

C

D

E

G

NO Picture

Seat

Qty

4

Back& 1

Armrest

Name

1

4

M6X80
bolt 1

Wrench 1

M6X40
bolt 3

F

Assembly Instruction Assembly Instruction 

GLA-60708-23KDGLA-60708-23KD

A

B

Parts list:

Steel
Washer

PVC b olt 
Cover

A

B

C

D

E

G

NO Picture

Seat

Qty

4

Back& 1

Armrest

Name

1

4

M6X80
bolt 1

Wrench 1

M6X40
bolt 3

F

1 2

3

CC
EE FF

1 2
3

CC
EE FF

1 2
3

CC
EE FF

CC
DDFF

CC
DD FF

CC
DDFF

CC
DDFF

修改  底座下面4根支撑拿掉

CC
DD FF

老款

CC
DD FF

M6X40

M6X90

300kg

 General Care:
For clearing, wipe the surface with a damp (not wet) cloth or sponge or wipe dry with a clean lint free cotton cloth.
Pokyny k ošetřování:
K čištění používejte vlhký hadřík nebo houbu, nebo ho otřete suchým nechlupatým bavlněným hadříkem.

Pokyny k ošetrovaniu
Na čistenie používajte vlhkú handričku alebo špongiu, alebo ho utrite suchou nechlpatou bavlnenou handričkou.



+



A

B

C

D

E

F

G

1

2

1

10

10

10

1

A

B

A

B

B

E BD
E

H
G

DEF

D

E

F

C

Pp板

30kg

 General Care:
For clearing, wipe the surface with a damp (not wet) cloth or sponge or wipe dry with a clean lint free cotton cloth.
Pokyny k ošetřování:
K čištění používejte vlhký hadřík nebo houbu, nebo ho otřete suchým nechlupatým bavlněným hadříkem.

Pokyny k ošetrovaniu
Na čistenie používajte vlhkú handričku alebo špongiu, alebo ho utrite suchou nechlpatou bavlnenou handričkou.




	页 1

